41501_E #FE*kE E & |

™ B4

7= miiEA

MR

BERENEHREMAEBESHITZSERE,
HRFEEEMTTLUREIR AN RE N,
BEXREERSEXESHRBLAES. IRETEHERN , TATFRX

%
FFARZRRRE , IOIRETHSHARS  ARTHRENTIREN
BERMFME,

BERERPVERI  TUBHRERXENRFITLEIME,
BHITE : M12 = +1.0 mm, M16 = £1.5 mm.

RS
BR MK X T RN BRM.

g
BERNRZETHEL2BLNERELAE,

BR:
EREE ENFHANETALETUBMALRETER , WK FENTH
RERE,

HEEE -
R E,
B E8R1E

® <L
2IL g‘ ] B2 , B2
= L5 ﬁt[ ; 7% |
: o/ |
Y4 B1
e
e
41501-0500512  E | #%454T | 54 | 60 |50 | 25 |30|18|12,5 (35| 5|9 |475| M5 | M12x25 30 85
41501-0720512  E | %484 | 70,2 | 77,6 | 72 | 39,7 44|27 | 21,3 |35 - | 9 | 475 | M6 | M12X40 30 85
41501-0720516  E | %484 | 70,2 | 77,6 | 72 | 39,7 |44 |27 | 21,3 |35 - | 9 | 475 | M6 | M16X40 50 150
41501-1000516  E | %4547 | 81,5| 905 |100| 42,6 |64|40|216 | 5 9 [4,75| M8 | M16X40 50 150

© norelem www.norelem.com




